7 Line n intersects lines / and m, forming the angles shown 11. Determine the measures of all numbered ang|es

in the diagram below.
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A2 1K 12 In the diagram below, lines # and m are cut by
Which value of x would prove / || m? 5 transversals p and g. What value of x would make lines
1 =¥ n and m parallel?
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8 Lines p and g are intersected by line r, as shown below. 20 X°
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9 Peach Street and Cherry Street are parallel. Apple 13 In the diagram below, ¢||m and QRL ST at R.

Street intersects them, as shown in the diagram below.
If mZ1 =2x + 36 and m£2 = 7x - 9, what ism£1?
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4 In the diagam below of quadrilateral ABCD with

10 In the diagram below, line ¢ is parallel to line , diagonal BD, m£A =93, mZADB =43, m/C=3x + 5,
and line w is a transversal. m£BDC = x + 19, and mZDBC = 2x + 6 Determine 1f

If mg2 =3x+ 17 and m£3 = 5x - 21, what is m£1? AB is parallel to DC. Explam your reasoning,.
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